CHOQSE TiHE CORRECT ANSWERS:

1. To form the Present Perfect Continuous, we use:
a) is/am/are + v-ing b) have/has + been + v-ing c¢) have/has + V3

2. To form the negative, we put ... before the -ing verb.
a) haven’t/hasn’t  b)isn’t/aren’t/amnot c)haven’t/hasn’t + been

3. To form the question, we follow this rule:
a) have/has + S + been + v-ing b) Am/is/are + v-ing
c) have/has +S + V3

4. The short answers follow these rules:
a) Yes, S + have/has b)Yes, S + have/has been
No, S + haven’t/hasn’t No, S + haven’t/hasn’t been

c) Yes, S + have/has + been + v-ing
No, S + haven’t/hasn’t + been +v-i33 IVEWORKSHEETS



